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 gyMZm :gyMZm :gyMZm :gyMZm :      1.  gd© àíZ gmoS>{dUo Amdí`H$ Amho. 
2. COdrH$S>rb A§H$ Ë¶m àíZm§Mo JwU Xe©{dVmV. 
3. CÎman{ÌHo$V àýn{ÌHo$Vrb àýH«$_m§H$ {b{hUo Amdí`H$ Amho. 

 

à.1 `mo½` n`m©̀  {ZdSy>Z Jmiboë`m OmJm ^am. (10) 

 1) ẁamon I§S>mVrb -------- àXoe hm ~mëH$Z àXoe åhUyZ AmoiIbm OmB©.   
 A) nyd© d Am¾o` ~) nyd© d B©emÝ`  
 H$>) npíM_ d Z¡F$Ë` S>) npíM_ d dm`ì`  
 2) n{hbo _hm ẁÜX ------- gmbr gwê$ Pmbo.   
 A) 1871  ~) 1905  
 H$>) 1914 S>) 1919>  
 3) 1917 À`m H«$m§VrZ§Va a{e`mbm {_Ì amï´>m§Mm {damoY ghZ H$amdm bmJbm. H$maU ----.  
 A) n{hë`m _hm ẁÜXm_Ü ò a{e`mMm nam^d 

Pmbm. 
~) {_Ì amï´>o ^m§S>dbemhrdmXr hmoVr.  

 H$>) a{e`mZo O_©Zrer ẁÜX~§XrMm H$ama Ho$bm. S>) a{e`mZo n{hë`m _hm ẁÜXmVyZ _mKma 
KoVbr. 

 

 4) \°${gñQ> njmMr ñWmnZm H$moUr Ho$br?   
 A) _wgmo{bZr ~) \«°$ÝH$mo  
 H$>) {hQ>ba S>) ñQ>°{bZ  
 5) \«°$ÝH$mo hm ----- `m XoemMm hþHy$_ehm hmoVm.   
 A) O_©Zr ~) BQ>br  
 H$>) ñnoZ S>) a{e`m  
 6) Xwgao _hm ẁÜX O_©ZrÀ`m ----- `m Xoemdarb darb AmH«$_UmZo gwê$ Pmbo.   
 A) \«$mÝg  ~) Am°pñQ́>`m  
 H$>) PoH$moñbmoìhm{H$`m S>) nmob§S>  
 7) g§ ẁº$ amï´>g§KQ>ZoÀ`m gwajm g{_VrMo nmM H$m`_ gXñ` H$moU?   
 A) B§½b§S>, \«$mÝg, O_©Zr, a{e`m, OnmZ ~) B§½b§S>, \«$mÝg, A_o[aH$m, a{e`m, OnmZ  
 H$>) B§½b§S>, \«$mÝg, a{e`m, OnmZ, MrZ S>) B§½b§S>, \«$mÝg, a{e`m, A_o[aH$m, MrZ  
 8) ^maV H$Yr ñdV§Ì Pmbm?   
 A) 1857 ~) 1942  
 H$>) 1947 S>) 1949  
 9) gwdoP H$mbì`mÀ`m amï´>r`rH$aUmMr g_ñ`m H$moUË`m Am{\«$H$s Xoemer {ZJS>rV hmoVr?   
 A) H$o{Z`m ~) X{jU Am{\«$H$m  
 H$>) B{Oá S>) ZmOo[a`m  
 10)  erV ẁÜX hm ------- `m§À`mVrb g§Kf© hmoVm.   
 A) ^maV d nm{H$ñVmZ ~) a{e`m d MrZ  
 H$>) A_o[aH$m d OnmZ S>) a{e`m d A_o[aH$m  

D 
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à.2 nwT>rb àíZm§Mr g{dñVa CÎmao {bhm. (H$moUVrhr VrZ) (30) 

1) n{hë`m _hm ẁÜXmMo n[aUm_ g{dñVa {bhm.   

2) a{e`Z H«$m§VrMo n[aUm_ {bhm.    

 3) Xwg-`m _hm ẁÜXmMo n[aUm_ {bhm.  

4) g§ ẁº$ amï´>g§KQ>ZoÀ`m aMZoMo dU©Z H$am.        

5) erV ẁÜXmÀ`m {d{dY AdñWm§Mo dU©Z H$am.  

 
à.3 nwT>rb àíZm§Mr WmoS>Š`mV CÎmao {bhm. (H$moUVrhr XmoZ) (10) 

1) n{hë`m _hm ẁÜXmMr H$moUVrhr XmoZ H$maUo Úm.      

2) Xwg-`m _hm ẁÜXmVrb KQ>Zm§Mo dU©Z H$am.             

 3) MrZ_Yrb amï´>dmXmMm WmoSŠ`mV AmT>mdm ¿`m.               

4) Am{\«$Ho$Vrb amï´>dmXmÀ`m CX`mMr H$maUo {bhm.    

 
à.4 {Q>nm {bhm. (H$moUË`mhr XmoZ) (10) 

1) a{e`Z H«$m§VrMo Q>ßno  

2) O_©ZrVrb hþHy$_emhr  

3) OnmZ_Yrb amï´>dmX      

4) erV ẁÜXmMm eodQ>    

 

Translation in English 

Sub: History of Modern World (Renaissance to 1871 to 1991) (HC - 201) 

 Instructions:   
1) All Questions are Compulsory. 
2) Figures to the right indicate full marks. 
3) In the case of any doubt the Marathi version shall be held to be authentic and final. 
4) While writing answers the respective question numbers must be mentioned in the 

Answer Book. 
 

 

Q.1. Fill in the blanks with the correct option. (10) 
 1) ---------- part of Europe was known as Balkan territory.  
 a) East and south east b) East and north east  
 c) West and south west d) West and north west  
 2) World War I started in -----.  
 a) 1871 b) 1905  
 c) 1914 d) 1919  
 3) Allies opposed Russia after outbreak of the 1917 Revolution because ------.  
 a) Russia was defeated in the 1st World 

War 
b) Allied nations were capitalists  

 c) Russia signed 'seize fire' pact with 
Germany   

d) Russia withdrew from the 1st World 
War 

 

 4) Fascist party was organized by ------   
 a) Mussolini b) Franco  
 c) Hitler d) Stalin  
 5) Franco was the dictator of ------- .   
 a) Germany b) Italy  
 c) Spain d) Russia  



 AmYw{ZH$ OJmMm B{Vhmg (1871 Vo 1991) ((((HC – 201) -AE/ II 3/3 

 6) World War II started with the Germany's invasion in ------.                            
 a) France b) Austria  
 c) Czechoslovakia  d) Poland  
 7) Which five nations among the followings are permanent members of Security 

Council of United Nations?  
 

 a) England, France, Germany, Russia, 
Japan 

b) England, France, America, Russia, 
Japan 

 

 c) England, France, Russia, Japan, 
China 

d) England, France, Russia, America, 
China 

 

 8) India got freedom in --------.  
 a) 1857 b) 1942  
 c) 1947 d) 1949  
 9) Issue of nationalization of Suez Canal was related to  ------ .  
 a) Kenya  b) South Africa  
 c) Egypt d) Nigeria  
 10) Cold War was the conflict between -------.  
 a) India and Pakistan b) Russia and China  
 c) America and Japan d) Russia and America  
   

Q.2. Answer the following questions in detail. (Any Three) (30) 
1) Write in detail consequences of First World War.  
2) Write consequences of the Russian Revolution. 

 3) Write consequences of the Second World War.   

4) Describe the structure of United Nations’ Organisation (UNO). 
5) Describe the various stages of Cold War. 
 

Q.3. Answer the following questions in brief. (Any Two) (10) 
1) Give any two causes of the First World War. 
2)  Describe the course of the Second World War. 

 3)  Take a brief review of the nationalism in China.   

4) Write the causes of rise of nationalism in Africa. 
 

Q.4. Write short notes. (Any Two) (10) 
1)  Phases of the Russian Revolution 
2) Dictatorship in Germany 
3) Nationalism in Japan 
4) End of Cold War  

 

 
____________________ 

   


